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Corporate Administration (Core Elective)
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Instructions to Candidates:
Answers should be Written completely either in Kannada or in English.

SECTION-A
PR — D
Answer any FIVE sub questions. Each sub question carries 2 marks. (5%2=10)
QIRYTTETR NTH YT JIZNRVR GV3DA. TS LT TB 2 OB,
1. a) Define Company.
BOTIONTY, WA
b)  What is Prospectus ?
LVOWOD BVéF HOTTeR 7
c)  Who are key managerial personnel ?
TR0D BHITTT A2)00 H0TY 0IBT ?
d) State the meaning of proxy.
B TEAH Q0OTT BFF 20T0WD.
e) Expand OPC. State the meaning of OPC.
OPC OSDKDQl DAOA. OPC O “::DC;SE-‘W\'SDOl 2280W0.
f)  Whatis minutes ?
SV ROTTED ?
g) Give the meaning of liquidation of a company; mention their types.
BFOTAOH NAWFI OTWTER 9 &30 DPRL, 39A0.
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SECTION-B
QTR - 0
Answer any FOUR questions from the following. Each question carries § marks. (4%5=20)
8 3UNT cIRPoosde mewy TYAYR Yu3or. TS JIN 5 wosnw.
Difterentiate between Public and Priv ale Company
PRFIAT PR 09TN FOTIOD IS m)E’D}'\J" 3P,
Briefly explain the features of a Global Compdny
ONET FOTROD VFENIIY, DFDA.
State the contents of a minutes books.
SORT, TWITO LOTNTR, S90.
Bncﬂ\ e\plam the powers and duties of a company secretary.
TOTQ TDODNFTEFCD ©0TT SNV 535-‘:357"%“0 SRR ?
Explain the functions of a promoter.
THIFTES FODRFNTR), DT[ORD.

SECTION-C
PN - X
Ans“ erany TWO questions from the following. Each question carries 12 marks.
3 FIENT PP TOTITR TR TIROR woZdA. T T3 3 12 ©037%0.(2x12=24)
Explam the broad classification of compames
SOTANY BNEF FTLO[IY, DTOR.
Explain the clasuses of memorandum of Association.
TOTAOD RNOFTEIT0 JI3TI 605'1%353 NWOD.
“Company secretary is not a servant of the company but this servant of Law™. Discuss and
Justify.
“S0T TODFTEFOIN FOTAOD MUVDIY SBT3 TZRIT MHOOID”. 233F
wDE'D D oD WTNA.

SECTION-D

AN - B
Answer any ONE question from the following. which carries 6 marks. (1x6=6)
B TYNT OITYTOTTR 2.0TH wérﬁ YOBOR. 6 OBMID.
State any six highlights ofcompany Act 2013,
TOTD ToONT 2013 CI0FH)TOWBR T|[WNLD T @Ogﬁ%’& 3PR).
Draftarevolution copy of a company wnlh Imaginary mformatlon
TOTAOD HOFOTW TIODIY, VAT BR&LS3ROAR SCIPOR.




